

Available online at http://bjas.bajas.edu.iq https://doi.org/10.37077/25200860.2021.34.1.10 College of Agriculture, University of Basrah Basrah Journal of Agricultural Sciences

ISSN 1814 – 5868 Basrah J. Agric. Sci. 34(1), 111-123, 2021 E-ISSN: 2520-0860

The Determination of the Genetic Distance of Various Snake Melon *Cucumis melo var. flexuosus* Cultivars Using Inter Simple Sequence Repea Technique (ISSR)

Haidar A. K. Al Khazraji^{*} & Abdulkareem M. Abd & Abdulla A. Abdulla Department of Horticulture and Land Scape, College of Agriculture, University of Basrah Iraq

*Corresponding author email: hay9561@gmail.com

Received 17 September 2020; Accepted 20 November 2020; Available online 19 February 2021

Abstract: The experiment have been done on the winter farming season 2020 in one of the farms that belongs to Faris company in Basrah governorate, the technique ISSR have been used to study the genetic distance for twenty one isolates of snake melon Cucumis melo var. flexuosus species. The variations between amplified samples have been revealed after running them on a gel of agarose which have been previously stained by ethidium bromide. Five primers which gave varied product on the agarose have been selected. Those five primers produced 713 bands, both primers UBC 813 and UBC 815 showed the higher numbers of bands reached to 177 while the primer UBC862 showed the least numbers of bands (100) and the bands which showed multi-variations showed (46) bands, and the results primers amplification unique bands their number reached to (14) and five of those bands belong to the primer UBC842 while the primer UBC862 produced three bands while the primer UBC807 did not produced any bands. While it has shown 100% polymorphisms with the primers 813, 815, 842 and 862, and the least polymorphism percentage have shown with the primer UBC807 reached 75%. According to the efficiency primers, the highest efficiency percentage shown with the primer UBC813 and 815 reached to 24.82% and the least percentage shown 14.02% by the primer UBC862. Cluster analysis showed the effect on the variance of the studied cultivars.

Keywords; Cucumis melo Var. flexuosus, ISSR, Genetic Distance.

Introduction

The snake melon *Cucumis melo var. flexuosus* crops belong to the family of Cucurbitaaceae which produced in summer and this family can be used as fresh, cooked or pickled (Besirli & Yanmaz, 1997). It is noticeable that the production of *C. melo* are low in Iraq and the increment in the production of *C. melo* can be achieved by the study of the environmental factors that effect on its growth such as the

salinity which effect numerous of the main metabolic pathways, the salinity can affect the on the photosynthesis, fats and proteins metabolism (Munns, 2002; Paridaa & Dass, 2005).

The study of genetic variations between the different sup-species of *C. melo* to estimate the genetic distance or similarity which useful in growth and production by determination of

the breeding program according to their goals. The studying of apparent characteristics is not enough to study the genetic variations, especially when there is a strong close similarity between the studied groups. But it can be possible by using the molecular techniques and one of the most important technique is the Inter Simple Sequence Repeats (ISSR) which is based on the PCR (Semagn *et al.*, 2006).

The ISSR technique amplify the simple inner repetitions region and it showing more repeats than RAPD because of the length of the primers which is imply the high temperature for the denaturation step of the double strand DNA to single strand (Chowdhury *et al.*, 2002).

A previous study was done by Bashandy & (2016)they studied El-Shaieny five subspecies of peas (which are Cream7, Chinese reds, IT82C-12, Sudany and black Crowder) and their response to the salinity stress and analyse their ISSR and they concluded that both Sudany and Chinese Red are the most resisted to salinity and also the least crops production rate while the Creamy7 showed the higher rate of production and also sensitive to the salinity. The rate of polymorphisms was %82.08 and the genetic similarity rate was 0.48-0.67. The tree diagram shows that the genotypes were divided into two main groups. Group one: consists of the genotypes less tolerant of salinity.

While the second group included: the genotypes that are more tolerant of Salinity, which can be used in the breeding and improvement process to produce new varieties that tolerate salinity and have high production.

Another study was done by Majeed *et al.* (2018) in which they revealed three genotypes of wheat that improves salt tolerance by breeding the chosen plant breeding, in that

study they used the ISSR technique to revealed the variation of cultivars that grown under salinity conditions. To render ISSR labels, they picked three primers (UBC 809, UBC 810 and UBC 811). According to the effects of the markers for amplification and ISSR. Their findings revealed that genetic the selected variations occur between genotypes and local cultivars in certain particular segments of various sizes (bp) for all the primers included in this analysis, with the exception of the primers (OPE-16), which revealed that no bands existed in all of the selected genotypes and local cultivars. In conclusion, the genotypes selected (salt tolerant) varied from those of the local (salt cultivars. sensitive) Five varieties of quadruple wheat were evaluated under salt stress and 14 varieties of barley were evaluated under drought stress to assess the genetic pathways correlated with molecular markers responsible for salinity tolerance in wheat and water deficiency in barley, Heiba et al. (2019) obtained new findings. The approaches employed were RAPD, ISSR and SSR-PCR, and molecular methods were used to analyse the data collected from the objects tested. Effects: The SSR effects indicated the presence of five water stress resistance molecular markers in barley, three of which were positive for toughness and resilience relative to regulation.

This study aims to determine the genetic relation and similarity between the studied species and also to determine gene expression, in order to guide the planter to choose the correct parents.

Materials & Methods

This study held during the winter season of 2020 in one of the farm that belong to Faris Company, Basrah, Iraq. 21 plants species have been included in this study (16 of them are local from Basrah, Missan, Thi Qar, Anbar,

Al Khazraji et al., / Basrah J. Agric. Sci., 34(1): 111-123, 2021

Muthana, Babylon, Baghdad, Kirkuk. and the other five plants species are foreign (Iranian, Tarouzi from the French company Flmourine, Taarzi produced by the Dutch company Seimens, Egyptian by the company Alandalus and Italian produced by the company PAGANO COSTANTINO). At the end of the season 42 samples have been taken, 21 samples of them irrigated by water it's salinity 1 dSm⁻¹, and 21 samples irrigated with water its salinity equal to 5 dSm⁻¹ then DNA isolation were done for the 42 samples according to manufacturer protocol of Zymo-USA then five primers were ordered from Integrated DNA technologies /USA, as listed in the table (1).

Primer	Sequence	Tm	GC%
UBC813	CTCTCTCTCTCTCTCTT	53	47
UBC815	CTCTCTCTCTCTCTCTG	54	53
UBC842	GAGAGAGAGAGAGAGAGAYG	53	52
UBC807	AGAGAGAGAGAGAGAGAG	54	47
UBC862	AGCAGCAGCAGCAGCAGC	69	66

Table (1): The neocleotides sequences of primers that used in ISSR technique.

Table (2): Components of ISSR PCR reaction.

Concentration				
5µ1				
10 picomols.μl ⁻¹ (2 μl)				
1.5 μl				
16.5 µl				
25µl				

Table (3): The ISSR-PCR program steps.

Steps	Temperature (°C)	Time (minute)	Cycles
Initial Denaturation	94	3	1
Denaturation -2	94	1	
Annealing	35	1	40
Extension-1	72	1	
Extension -2	72	1	1

Gel electrophoresis were done the gel electrophoresis according to protocol mentioned by Sambrook, & Russell (2001).

The agarose was 2% concentration and the samples ran with presence of the DNA ladder to estimate the DNA bands sizes (Cerasela, *et al.*, 2011) and then the results were

analysed by converting the electrophoresis equal 1 and absence equal 0 and then the characterization data converted to similarity according to Nei & Lei (1979).

similarity =
$$\frac{2nxy}{nx + ny} * 100$$

The genetic distance calculated by using the Nie's 72 equation (Nei & Lei. 1979). As follow;

Genetic distance (G.D) =1-($\frac{2*Nxy}{Ny+Nx}$)

In which G.D. represent the genetic distance, r Nxy represent the number of bands that interfere between the two groups X and Y the samples, Nx represents the number of total bands in x sample while Ny represents the number of total bands in Y

results into numbers the presence of band sample. After finding the G.D. between the samples the cluster tree were drawn according to UPGMA (Sneath & Sokal., 1973). The software NTSYS0-pc were used to draw the phylogenetic tree by using the following equation; the percentage of polymorphisms for each primer





(Grundmann et al., 1995)



Fig. (1): Gel electrophoresis of genomic DNA extraction from Plant, 1% agarose gel at 5 vol .cm⁻¹ for 1:15 hours.

Results & Discussion

As shown in table (1), five primers of the ISSR technique were used to assess the tolerance of the varieties in our study of *Cucumis sativus* (21 types irrigated with freshwater and themselves irrigated with saltwater). The PCR reaction products showed different bands, some of which could differentiate between fresh-water

irrigated varieties from salt-water irrigated ones. The primer that records a single band in most fresh water irrigated varieties and not present in saltwater irrigated varieties or vice versa is a candidate of characteristic primer for varieties tolerant or sensitive to salinity.

Primer	813	807	815	842	862	Total	Mean
Number of total bands	177	146	177	118	100	713	142.6
Number of bands	10	4	11	-	9	34	6.8
Mono morphism bands	-	1	-	-	1	2	0.4
Poly morphism bands	10	3	11	14	8	46	9.2
Unique bands	4	-	2	5	3	14	2.8
Poly morphism	100%	75	100	100	100	-	94
Primer Efficiency	24.82	19.77	24.82	16.54	14.02	-	19.99
Primer Discrimination	21.73	6.52	23.91	30.45	17.39	-	19.99

 Table (4): The products of ISSR primers their efficiency ratios and their discriminatory ability in the studied varieties.

The results showed that the primer UBC813 (Fig. 2) showed the existence of bands typical of salt-tolerant cultivars in two groups 34 and 42 of salt water of saltwater irrigated cultivars and 450bp of

molecular weight. Although these bands did not appear in other cultivars which could be used as an indicator for distinguishing between these cultivars for salt tolerance from the rest of the cultivars in our study, as the bands appeared at 725bp molecular weight in varieties,



Fig. (2): Agarose gel electrophoresis primer UBC813. Bands were fractionated by electrophoresis on a 2% agarose gel, and visualized under U.V. light after staining with red stain. Lane: 1 (M: 100bp ladder).

Which may reflect some of these salinitybearing varieties as well as the presence of irrigated with saltwater, which are 32, 34, 35, 36 and 41 and also appeared in class 13 irrigated with freshwater molecular weight bands 300 bp in cultivars in study 35, 37 and 39 appeared in cultivar No. 1, which is also indicative of cultivars with high salt tolerance and high gene expression compared to other studied cultivars. Through this analysis and amplification of the primer UBC813, the existence of specific bands appeared at a molecular weight of 600 bp for freshwater irrigated varieties 3, 11, 12, 13, 14 and 15 that did not appear in saltwater irrigated cultivars that could be characteristic of salinity-

sensitive cultivars, as well as the appearance of bands at molecular weight 475bp 1, 3, 4, 6, to Class 15.

As for the primer UBC815 (Fig . 3), the pcr products display distinct bands , and

for the cultivars tested, some may be special and characteristic bands for the cultivars irrigated with salt water, the molecular weight 650bp appeared in 23, 24, 25 and 26. In addition to 900 bp molecular weight in Varieties 23, 24, 26, 27, 30, 31, 32, 33, 34, 45, 36, 27, 38, 39, 40, 41, 42,which may be characteristic in the salt tolerance by 85 %.



Fig. (3): Agarose gel electrophoresis primer UBC815. Bands were fractionated by electrophoresis on a 2% agarose gel, and visualized under U. V. light after staining with red stain. Lane: 1 (M: 100bp ladder).

As for the primer UBC842 (Fig. 4), it is noted that single bands appeared at 800 bp molecular weight for the cultivars irrigated with salt water 26, 28 and did not appear in the other study cultivars as well as at 400 bp molecular weight for Varieties 25, 27 and 29. Even the molecular weight was shown 350 and 650bp for Varieties 1, 2, 3, 4, 5, 6, 7 and 8. In addition to their appearance in Varieties 10,11, 12, 13, 14, 15, 16, 17 and 18 for 350 bp molecular weight and their appearance in classes 11, 13 and 14 about 650 bp molecular weight. As for the amplification products of the UBC807 primer (Fig. 5), no unique bands appeared in the studied varieties. While the primer of UBC862 (Fig. 6) is the presence of single bands at a molecular weight of 700 bp for classes 24, 25, 26, 27, 28 and 29 and not present for other cultivars that may reflect a state of salt tolerance or an increase in gene expression, as specific bands appeared for irrigated taxa with fresh water at molecular weight 525 and 450 bp for classes 4 and 13 respectively in the study and not appearing in the other cultivars.



Fig. (4): Agarose gel electrophoresis primer UBC842. Bands were fractionated by electrophoresis on a 2% agarose gel, and visualized under U.V. light after staining with red stain. Lane: 1 (M: 100bp ladder).



Fig. (5): Agarose gel electrophoresis primer UBC807. Bands were fractionated by electrophoresis on a 2% agarose gel, and visualized under U.V. light after staining with red stain. Lane: 1 (M: 100bp ladder).



Fig. (6): Agarose gel electrophoresis primer UBC862. Bands were fractionated by electrophoresis on a 2% agarose gel, and visualized under U.V. light after staining with red stain. Lane: 1 (M: 100bp ladder).

This study showed the efficacy of all primers used in the polymerase chain reaction (PCR) amplification products, since the five primers provided a total of 713 amplified bands in all samples, with a mean of 142.6. The highest number of bands were provided by the primers 813 and 815, was 177 bands, while 862 provided the lowest number of bands 100. The number of bands with polymorphism bands resulting from primers reached 46 bands with a mean of 9.2, while the primer 842 was 14 bands, the highest number in the 807, the lowest number of bands was 3. As noted in table (4), the number of monomorphic bands generated by the primers amounted to 2 that appeared in the primers results 807 and 862, while the rest of the primers provided no Mono morphic bands. Similarly, the results of the amplification showed that unique bands with a mean of 2.8 as it showed 5 bands for primer 842 while the primer 862 generated

three unique bands and the primer 807 generated no unique primer. As for the Polymorphism bands, the primers 813, 815, 842 and 862 reported the highest percentage of the variance by 100% because the number of disparate bands is equal to the number of their total bands, the lowest percentage was 75% for the primers 807 because the number of disparate bands is less than one band from the total bands and the percentage is 94%. efficiency and The primer its discriminatory ability, as the highest efficiency was reported in the primers 813 and 81 by 24.82 %. The primer 842 can therefore be selected to differentiate between the salt-tolerant and the saltsensitive varieties.

Classes 39 and 40 were the most closely related varieties as shown in fig. (8) for fresh water irrigated varieties only, the varieties were distributed in two main groups. The results of fig. (7) were similar to the previous one from the cluster analysis of all the cultivars irrigated with fresh and salt water. For the cultivars irrigated with salt water, the varieties here retained the same genetic distance as seen in fig. (8), the distribution of the varieties into two main classes.

As for the correlation, it is noted from fig. (9) that the highest correlation between the type 21 and each of 17, 18, 19 and 20 was 0.992 from the analysis for the varieties irrigated with fresh water, and the lowest correlation between the types 1 and 16 by recording the lowest rates Correlation of 0.204. As for fig. (10) for salt water irrigated products, the highest correlation among classes 21, 20 and 19 was reported, amounting was 0.998.

The effect of two NaCl salt stress concentrations (75 mM and 150 mM) on six soybean cultivars (Giza 21, Giza 22, Giza 35, Giza 82, Giza 111 and Crawford) was analysed using ISSR at molecular level, and analysis using four primers showed 36 polymorphic fragments with 91.57% polymorphism out of a total of 39

amplified salinity stress fragments. With 74.83 per cent polymorphism, the six sovbean cultivars showed 30 ISSR individual positive fragments for salinity tolerance, while Giza 82 and Giza 35 had the largest number of specific salinity markers at all NaCl concentrations. For all the cultivars tested, NaCl salt stress induced differences in the number of electrophoretic protein bands, while Giza 82 displayed the largest number of new protein bands (3 bands) and Giza 111 according to our findings, ISSR techniques are valuable methods for detecting particular salinity tolerance markers and could be used in soybean breeding programs to pick the most resistant cultivars (Mahgoub et al., 2016).







Fig. (8): Cluster analysis of the cultivars irrigated with salt water.

•

C16,C1	7,C18,C	19,C20	,C21												
*Correl	ation m	atrix***													
Cl	1.000							60	1.000						
C2	0.873	1.000								1 000					
C3	0.844	0.878	1.000					C9		1.000	1992 100				
C4	0.773	0.836	0.900	1.000				C10	0.959	0.975	1.000				
A SPACESTER	100-020		- CARLER - CAR	22.522562	2012/02/02			CII	0.969	0.979	0.974	1.000			
C5	0.631	0.799	0.876	0.869	1.000			C12	0.964	0.961	0.973	0.989	1.000		
C6	0.526	0.650	0.817	0.833	0.926	1.000		C13	0.953	0.973	0.969	0.985	0.983	1.000	
C7	0.502	0.644	0.778	0.839	0.858	0.946	1.000	C14	0.951	0.973	0.969	0.979	0.985	0.985	1.000
CS	0.483	0.609	0.760	0.868	0.865	0.918	0.965	C15	0.936	0.968	0.972	0.976	0.983	0.980	0.990
C9	0.376	0.547	0.696	0.816	0.832	0.909	0.962	C16	0.905	0.946	0.940	0.960	0.958	0.964	0.970
C10	0.402	0.549	0.734	0.809	0.827	0.889	0.960	C17	0.903	0.953	0.946	0.954	0.958	0.964	0.980
C11	0.414	0.585	0.743	0.818	0.866	0.927	0.975	C18	0.914	0.958	0.956	0.967	0.969	0.974	0.985
C12	0.395	0.553	0.727	0.805	0.854	0.895	0.948	C19	0.896	0.942	0.942	0.945	0.954	0.957	0.977
C13	0.345	0.549	0.690	0.790	0.855	0.900	0.948	C20	0.890	0.936	0.941	0.948	0.957	0.960	0.975
C14	0.323	0.497	0.674	0.777	0.822	0.882	0.934	C21	0.892	0.944	0.943	0.950	0.954	0.962	0.977
C15	0.296	0.459	0.641	0.736	0,799	0.862	0.925	100	8 C						
C16			0.581	2002.20		2.55.7.55	0.913	10000 M	1.000	C10	cn	CI2	CIS	~14	
C17	0.218	0.434		0.696		0.808		C16	0.976	1.000					
0.020200	100000000							C17	0.982	0.979	1.000				
C18	0.248	0.461					0.910	C18	0.987	0.984	0.997	1.000			
C19	0.196	0.391	0.553	0.661	0.726	0.800	0.888	C19	0.984	0.982	0.992	0.989	1.000		
C20	0.165	0.374	0.567	0.645	0.753	0.824	0.883	C20	0.982	0.987	0.983	0.987	0.986	1.000	
C21	0.185	0.404	0.575	0.671	0.743	0.809	0.884	C21	0.981	0.983	0.002	0.992	0.002	0.992	1.000

Fig. (9): The correlation between the varieties irrigated with fresh water.

		C19,C20													
Correl	ation m	atrix**	-												
Cl	1.000							C8	1.000						
C2	0.993	1.000						C9	0.996	1.000					
C3	0.987	0.993	1.000					C10	0.993	0.995	1.000				
C4	0.983	0.955	0.996	1.000				C11	0.995	0.996	0.996	1.000			
C5	0.986	0.993	0.994	0.995	1.000			C12	0.995	0.997	0.998	0.997	1.000		
C6	0.959	0.992	0.992	0.990	0.993	1.000		C13	0.994	0.996	0.994	0.993	0.996	1.000	
C 7	0.983	0.986	0.988	0.980	0.984	0.990	1.000	C14	0.991	0.994	0.995	0.993	0.996	0.998	1.000
CS	0.987	0.955	0.990	0.985	0.986	0.995	0.996	C15	0.991	0.995	0.995	0.992	0.996	0.998	0.995
C9	0.991	0.993	0.993	0.985	0.988	0.995	0.995	C16	0.990	0.995	0.995	0.994	0.995	0.997	0.990
C10	0.983	0.984	0.989	0.983	0.985	0.991	0.993	C17	0.993	0.996	0.997	0.995	0.998	0.998	0.995
с11	0.983	0.985	0.955	0.982	0.985	0.993	0.996	C18	0.992	0.995	0.997	0.994	0.997	0.997	0.995
C12	0.987	0.988	0.991	0.985	0.989	0.994	0.995	C19	0.992	0.995	0.996	0.994	0.997	0.998	0.995
C13	0.990	0.992	0.990	0.982	0.987	0.993	0.991	C20	0.989	0.994	0.994	0.991	0.995	0.997	0.997
C14	0.986	0.987	0.987	0.982	0.986	0.992	0.989	C21	0.991	0.995	0.995	0.992	0.996	0.997	0.997
C15	0.988	0.991	0.991	0.985	0.988	0.992	0.989		CS	C9 (C10 (c11 (12 0	13 0	14
C16	0.987	0.990	0.990	0.983	0.986	0.990	0.989	C15	1.000						
C17	0.959	0.990	0.989	0.983	0.987	0.992	0.992	C16	0.998	1.000					
C18	0.987	0.987	0.987	0.982	0.986	0.991	0.991	C17	0.998	0.998	1.000				
C19	0.990	0.989	0.987	0.981	0.985	0.991	0.990	C18	0.998	0.998	0.999	1.000			
C20	0.989	0.990	0.989	0.984	0.987	0.991	0.987	C19	0.997	0.997	p.999	0.999	1.000		
C21	0.991	0.991	0.990	0.985	0.987	0.991	0.989	C20	0.999	0.998	0.998	0.997	0.998	1.000	
								C21	0.997	0.997	0.998	0.998	0.999	0.005	1.000

Fig. (10): The correlation between the varieties irrigated with salt water.

90 ISSR primers were also used by Sestili *et al.* (2008), 39 of which demonstrated polymorphism among the 13 Italian melon accessions. Nine ISSR primers that produced 71 monomorphic bands between Palestinian melon accessions were used by Mallah (2014). While the analysis carried out by Akash *et al.* (2020). The 14 ISSR primers developed 63 bands, among which 27 (43 per cent) were polymorphic, and divided the landraces into two classes ranging from a high among 0.97 to a low of 0.39 per cent similarity. Genetic variation were found among 17 Jordanian snake melons (*C. melo* var. *flexuosus*).

Conclusions

We conclude that the ISSR indicators are important in detecting variations and determining a distinct fingerprint for the varieties under study, but that depends on the number of used primers and the number of varieties, and this in the future may have significance in the field of plant breeding and determine a footprint for promising varieties for breeding and plant improvement programs.

Acknowledgements

I extend my sincere thanks to Prof. Dr Atheer H. Ali, Department of Fisheries and Marine Resources for reviewing the manuscript. Miss Israa A. Yousif, Basrah Journal of Agricultural Science for technical supporting.

Orcids

H.A.K. Al Khazraji: https://orcid.org/0000-0002-7305-0784

A.M. Abd https://orcid.org/0000-0002-2695-9485

A. A. Abdulla https://orcid.org/0000-0002-5640-3015

References

- Akash, M., Awad, N., & Kasrawi, M. (2020). Genetic diversity among snake melon landraces (Cucumis melo var. flexuosus) using molecular descriptors. *Plant Biosystems-An International Journal Dealing* with all Aspects of Plant Biology, 154, 206-212. https://doi.org/10.1080/11263504.2019.1587536
- Bashandy, T., & El-Shaieny, A. (2016). Screening of Cowpea (Vigna unguiculata L. Walp) genotypes for salinity tolerance using field evaluation and molecular analysis. Journal of Agricultural Chemistry and Biotechnology, 7, 249-255. https://jacb.journals.ekb.eg/article_41126_400cb64b1 04d1aea2b5411f20b2ed3c9.pdf
- Besirli, G., & Yanmaz, R. (1997). Types of the snake cucumber (*Cucumis melo* var. flexuosus Naud.) Grown in the south east region of Turkey. In *International Symposium on Cucurbits* 492, 37-40. https://doi.org/10.17660/ActaHortic.1999.492.3
- Cerasela, P., Lazar, A., Irina, P., Maria, I. B. O., Giancarla, V., & Banu, C. (2011). Somaclonal variation at the nucleotide sequence level revealed by RAPD and ISSR markers. *Journal of Horticulture, Forestry and Biotechnology, 15*, 119-123.https://www.usab-tm.ro/Journal-

HFB/romana/2011/2011%203%204/Lista%20lucrari_ 2011%20PDF/JHFB_15(4)_PDF/29Petolescu%20Cer asela.pdf

Chowdhury, M. A., Vandenberg, B., & Warkentin, T. (2002). Cultivar identification and genetic relationship among selected breeding lines and cultivars in chickpea (*Cicer arietinum* L.). *Euphytica*, *127*, 317-325. https://doi.org/10.1023/A:1020366819075

Grundmann, H., Schneider, C., Hartung, D., Daschner, F. D., & Pitt, T. L. (1995). Discriminatory power of three DNA-based typing techniques for *Pseudomonas* aeruginosa. Journal of Clinical Microbiology, 33, 528-534.

https://jcm.asm.org/content/jcm/33/3/528.full.pdf

- Heiba, S. A. A., Haiba, A. A. A., & Abdel-Rahman, H. M. (2019). Determination of genetic markers in some Egyptian varieties of wheat and barley under salt and drought stresses. *Asian Journal of Crop Science*, 11 59-70. https://doi.org/10.3923/ajcs.2019.59.70.
- Mahgoub, H. A., Sofy, A. R., Abdel-Azeem, E. A., & Abo-Zahra, M. S. (2016). Molecular markers associated with salt-tolerance of different soybean (*Glycine max* L.) cultivars under salt stress. *International Journal of Advanced Research in Biological Sciences*, *3*, 241-267. https://jarbs.com/pdfcopy/aug2016/jjarbs37.pdf
- Majeed, D. M., Ismail, E. N., Al-Mishhadani, I. I., & Sakran, N. M. (2018). Assessment of genetic diversity among wheat selected egenotypese and local varieties for salt tolerance by using eRAPD and ISSR analysis. *Iraqi Journal of Science*, 59, 278-286. https://doi.org/10.24996/ijs.2018.59.1B.5
- Mallah, O. B. Y. (2014). Assessment of biodiversity among Palestinian landraces of *Cucumis melo* L. groups based on morphological descriptors and molecular markers (RAPD and ISSR). Ph. D. Thesis. University of An-Najah National.https://repository.najah.edu/bitstream/handle/ 20.500.11888/8435/Omar% 20Mallah.pdf?sequence=
- Munns, R., (2002). Comparative physiology of salt and water stress, plant. *Cell & Environment, 25*: 239-250.https://onlinelibrary.wiley.com/doi/pdf/10.1046/j.0 016-8025.2001.00808.x
- Nei, M., & Li, W. H. (1979). Mathematical model for studying genetic variation in terms of restriction endonucleases. *Proceedings of the National Academy* of Sciences. 76, 5269-5273.https://www.pnas.org/content/pnas/76/10/5269.fu ll.pdf
- Paridaa, A. K., & Dass, A.B. (2005). Salt tolerance and salinity effects on plants: A review. *Ecotoxicology and Environmental* safety, 60, 324-349.https://doi.org/10.1016/j.ecoenv.2004.06.010

Al Khazraji et al., / Basrah J. Agric. Sci., 34(1): 111-123, 2021

- Sambrook, J., & Russell, D. W. (2001). *Molecular cloning: A laboratory manual*. 3rd edition. Cold Spring Harbor Laboratory Press, Cold Spring Harbor, N.Y., 999pp. https://catalogue.nla.gov.au/Record/2284148
- Semagn K., Bjørnstad Å., Ndjiondjop, M. N. (2006) An overview of molecular marker methods for plants. *African Journal of Biotechnologym* 5, 2540–2568. file:///C:/Users/hp/Downloads/56080-Article%20Text-94793-1-10-20100701.pdf.
- Sestili, S., Daniele, A., Rosa, A., Ferrari, V., Belisario, A., Ficcadenti, N., & Pitrat, M. (2008). Molecular characterization of different Italian inodorus melon

populations based on ISSR molecular markers and preliminary SSR analysis. Proceedings of IX Eucarpia Meeting on Genetics and Breeding of Cucur-bitaceae; May 21–24, Avignon, France: INRA. 307–311. https://www.semanticscholar.org/paper/Molecularcharacterization-of-different-Italian-on-Sestili-Daniele/45a0e8683c6ce20c0d68e9e935a8ce3a8ea952e 8?p2df

Sneath, P. H., & Sokal, R. R. (1973). Numerical taxonomy. The principles and practice of numerical classification. San Francisco: Freeman, 573p. http://garfield.library.upenn.edu/classics1987/A1987F2 72200002.pdf

تحديد البعد الوراثي لاصناف مختلفة من خيار القثاء المحلية والاجنبية باستعمال تقنية التكرارات الترادفية. البسيطة الداخلية (ISSR)

حيدر على كريم الخزرجى و عبد الكريم محمد عبد و عبدالله عبدالعزيز عبدالله

قسم البستنة وهندسة الحدائق، كلية الزراعة-جامعة البصرة، العراق

المستخلص: اجريت التجربة في موسم الزراعي الشتوي 2020 في احد المزارع التابعة لشركة الفارس الزراعية في المنطقة الصحراوية محافظة البصرة بهدف دراسة البعد الوراثي لواحد عشرين صنف من اصناف القثاء باستعمال تقنية التكرارات الترادفية البسيطة الداخلية (ISSR). كشف عن التباينات بين القطع المتضاعفة لكل صنف(اعدادها واحجامها الجزيئية) بعد ترحيل نواتج التضاعف للعينات على هلام الاكاروز وتصبيغها ببروميد الاثنيديوم. اختيرت خمس بوادئ والتي اظهرت نواتج تضاعف متباينة بين الاصناف قيد الدراسة. انتجت البوادئ الخمسة جميعها 173 حزمة فقد انتج البادئين UBC813 و218 لطهرت نواتج تضاعف متباينة بين الاصناف قيد الدراسة. انتجت البوادئ الخمسة جميعها 173 حزمة فقد انتج البادئين UBC813 و218 لطهرت نواتج تضاعف متباينة بين الاصناف قيد الدراسة. انتجت البوادئ الخمسة جميعها 173 حزمة فقد انتج البادئين UBC813 و218 UBC اعلى عدد حزم بلغ 177 حزمة في حين انتج البادئ UBC 802 ولقدي الفادئ العلى عدد حزم بلغ 177 حزمة في حين انتج البادئ UBC 862 وعلى الفاردئ الحمسة جميعها 100 وبلغ عدد الحزم ذات التعدد الشكلي الناتجة من فعل البوادئ 46 حزمة، واظهرت نتائج تضعيم اليوادئ على 100 وبلغ عدد الحزم ذات التعدد الشكلي الناتجة من فعل البوادئ 46 حزمة، واظهرت نتائج منوادئ عار فريدة وليدة 100 وبلغ عدد الحزم ذات التعدد الشكلي الناتجة من فعل البوادئ 460 حزمة، واظهرت نتائج حزم فريدة ولم ينا 100 وعزمة وللبادئ UBC842 في حين انتج البادئ UBC862 وعاده ولفهرت نتائج حزم فريدة ولم ينتج البادئ UBC 807 وفي عدد الحزم ألياد عزمة للبادئ UBC842 في حين انتج البادئ UBC 807 وفي موليدة ولموندي الموادئ 131 ماليادئ UBC 807 وقد مربود وي موليدة ولمادئ المادي 150 وعامة البادئ حامة وفي من الموادئ قامة وبلغت 100%، اقل نسبة مئوية للتعدية الشكلية فكانت 75% للبادئ UBC8 وقامة البادئ وقد وقدا 80 وماده وبلغت 100%، اقل نسبة مئوية للتعدية الشكلية فكانت 75% للبادئ 405 ولعاء والادئ 104 ووق 130 ووقاءة البادئ وقد وفو ووق عاءة البادئ وقد وفي وي موليدة ولبادئ 105% ولمادة البادئ 105% ووقا مالي وورد وفي تماني الوادئ 301 وليادئ 300 ووقا ووقاءة البادئ 205% وليان كماءة كاءة كانت في البادئ 205% ووقا ووقا وولي 205 ووقا كاءة كاءة كانت في البادئ 205% ووقا وفي ووقا ووقا ووقاءة البادئ 205% ووقا في البادئ 205% وول ووقا وولي 205 ووم وا

الكلمات المفتاحية: نبات خيار القثاء ISSR · Cucumis melo Var. flexuosus، البعد الوراثي.